Complete the tables for the parallelogram below.

a
a c d Area Perimeter

1./ 5cm 4 cm 3 cm

2. 6cm 5cm 3 cm

3. 3 cm 2cm | 22 cm?

4./ 4cm | 10cm 28 cm?

5. 7 cm 4 cm 28 cm

6./ 2cm 14 cm 36 cm

7. 10 cm 30 cm? | 30 cm

10.

11.

12.

13.

14.

15.

16.

a C d Area Perimeter
5 mm )
10 cm 6 cm cm cm
60 cm 5
5m 1m m m
1 1
—Ccm —Ccm —Ccm
4 5
3 cm 2 cm 2 cm
5 3
2 2
3 = cm 3=-cm 2 cm
X Cm X Cm 2 cm
X cm 2 cm X cm
X cm 2 cm X cm?
2 cm X Cm X Cm




Complete the tables for the parallelogram below.

a
a c d Area Perimeter
1., 5cm 4 cm 3cm | 15cm? | 14 cm
2./ 6cm 5cm 3cm | 18cm? | 22 cm
3./ 11cm | 3cm 2cm | 22cm? | 28 cm
4./ 4 cm 10cm | 7cm | 28cm? | 28 cm
5./ 7 cm 7 cm 4cm | 28cm? | 28 cm
6./ 2cm 16cm | 14cm | 28cm? | 36 cm
7./ 5cm | 10cm | 6cm | 30cm? | 30cm

10.

11.

12.

13.

14.

15.

16.

a C d Area Perimeter
5 mm )
0.5 cm 10 cm 6 cm 3 cm 21 cm
5 1 60 em 3 m2 12
m m 0.6 m m m
1 1 1 5
—Ccm —Ccm —Ccm — CIm 1-cm
4 5 10
3 2 2 2
—Ccm —Ccm —Cm —Ccm 2 cm
5 5 3 5
~cm 3=cm 3-cm 2 cm? 8 cm
X Cmn X Cm 2 cm 2X cm? 4x cm
X cm 2 cm X cm x2cm? |2x +4cm
X Cn 2 cm 1 cm X cm? 2x + 4 cm
X 2
2 cm E—Zcm X Cm 2X cm X cCm




Complete the table for the trapezium.

o 0 N 5o U &~ W M H

b
e N
a b c d h Area Perimeter

6 cm 5cm 4 cm 3 cm 2 cm

6 cm 4 cm 3 cm 2 cm 1cm

6 cm 4 cm 5cm 3 cm 19 cm
7 cm 5cm 7 cm 4 cm 22 cm
8 cm 6 cm 4 cm 4 cm 21 cm?

10 cm 4 cm 3 cm 24 cm? 25 cm
X cm X+ 2cm 5cm 5cm 4 cm 24 cm
X cm X+ 2cm 5cm 5cm 4 cm 24 cm?

X cm x+2cm | x+1cm | x+3cm 4 cm 20 cm?




Complete the table for the trapezium.

o 0 N 5o U &~ W M H

b
e N
a b c d h Area Perimeter
6 cm 5cm 4 cm 3 cm 2 cm 11 cm? 18 cm
6 cm 4 cm 3 cm 2 cm 1cm 5 cm? 15 cm
6 cm 4 cm 5cm 4 cm 3 cm 15 cm? 19 cm
7 cm 3 cm 5cm 7 cm 4 cm 20 cm? 22 cm
8 cm 6 cm 4 cm 4 cm 3 cm 21 cm? 22 cm
10 cm 6 cm 5cm 4 cm 3 cm 24 cm? 25 cm
6 cm 6+ 2 cm 5cm 5cm 4 cm 28 cm? 24 cm
5cm 54 2cm 5cm 5cm 4 cm 24 cm? 22 cm
4 cm 44+42cm | 44+1cm | 44+ 3cm 4 cm 20 cm? 22 cm




